Set #18 — Coriolis Acceleration

1. Two rotating rods are connected by a slider block P. The rod

attached at B rotates with a constant clockwise angular velocity wg.

For b= 10 inches and ws= 5 rad/s, determine for the position shown
a) the angular velocity of the rod attached at A,

b) the relative velocity of the slider block P with respect to the rod on
which it slides.
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Set #18 — Coriolis Acceleration
‘2. Rod AB of length R = 15 inches rotates about A with a @)
constant clockwise angular velocity @, of 5 rad/s. At the e
same time, rod BD of length r = 8§ inches rotates about B
with a constant counterclockwise angular velocity w; of 3

rad/s with respect to rod AB. Knowing that 8 = 60°,
determine for the position shown the acceleration of point
D.
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Set #18 — Coriolis Acceleration

3. The motion of pin D is guided by a slot cut in rod AB
and a slot cut in the fixed plate. Knowing that at the
instant shown rod AB rotates with an angular velocity of 3
rad/s and an angular acceleration of 5 rad/s?, both
counterclockwise, determine the acceleration of pin D.
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